s e =9 =0 o o Exponentes negativos

Nombre: Fecha: Puntuacion:
(-1 = 502) =
9(3) — 603 =
100D = 2?2 =
(-5)= (-8) =
9% — (—6)D =
(=5)Y = 2(3) =
72 = (-8) =
(-2)° = 7=
100D = 1003 =
(—6) = 5(3) =
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Exponentes negativos

Nombre:

D=1

o3 — L

729

1
10(—1) -
10

(=) =)

9% = 81

1

_5\D = (—
(=5 ("135

77 = 49

(=2)° =4

D= _—
10 10

6 -2) —
(—6) 36

Fecha: Puntuacion:

s L

25

6 - L

216
22 =4

1
(2 =
9 64

1
—6\D = (—_
(6" = ()

2(—3)

co| =—

B = (=5

512)

1
—\&D = (2
D =)

1
10(—3) -
1000
1
3) —
> 125
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